[ Efficiency vs vertpos |

efficiency vs vert r

Ratio

Efficiend

efticiency vs vert z

Ratio

0.8

0.7
0.6;—
0.5F
0.4
0.3
0.2

0.1

o] ]

-

L1 L

=
TTT Ty T T

0.95

eI

+

-

1072 107 1

10 0?
TP vertr (cr%)

[ fake+duplicates vs vertr

take+duplicates vs. r

Ratio

0.8

0.6

0.4

0.2 eeeenrieess

M"‘;."*

l_ """""" ' """""" "' """"

................................................

—=— DQM_mkFit_TToriginal
—— DQM_mkFit_TTNEWnoMS-genMatch-CUT

0.8

0.2t

0.4t
h

[

2.

e
0.6 -sebeeren e
O SRR S

0.4F - ...... + ........

e

[y

HI lu.mlull”

i L ..m]”:“

0% -6 0

W
o

[ Efficiency vs. sim PV z |

efticiency vs Sim. PV z

Ratio

0.8

10 20 30
TP vert z (cm)

0.6 - :
1y
0.5

. H _____

+-0+._:"""'f"""'"'.~"""":o

T

.......................

s

0o

o ORI N

02F oot b

N R

5 10 15 20
Sim. PV z (cm)

take+duplicates vs. z

Ratio

0.8]-

0.6]-

0.4f—

0.2~

2.

4

.........................................

. : :
i I

#

H
T

ot

0.95)

0
track

[ fake+duplicates vs Sim. PV z |

N

>
2 0.09

£

70.08
20.07
o
T 0.06
@
£0.05
Q
50.04
=}
$0.03

)
$0.02

10 20 30
ref. point z (cm)

0.1

0.0

D
T T T LTI

._.
T

"
+

0.95,
=2

0 =15 -10 -5

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


